MEE BEEE-EXR

ETEREH HEEW FEEH HMYHEAM | SHAK | HAEY | REOER | %HE B DR8EE D#EE | SENREE R ST EfELE
BURHHER [BEEERNRT—C BE M ERTFISMLM ety —f=Et 47 2 625.40| FHA—NIL | FER2TEE 27,059,559 1,190,620 25,868,939 4.4%
BURHERR B BENRT—D BRERE TERTFISMUERN YRR — R 15 2 1.00[= ER2TEE 4,850,453 649,960 4,200,493 13.4%
BURHEER |BRBENRT—2 #HBKHHE ERT SRR BUtERE | MRS 15 2 1.00| = FR2TERE 307,158 41,158 266,000 13.4%
BURHERR [BRBENRT—D RER TERTFIEMHERN BYiTRRE —fR&E 15 2 96.00| 5 A—IL | ER2TEE 31,378,782 4,204,756 27,174,026 13.4%
BURHER [(fRESHZ—5 EER %%g;;ﬂﬁzmﬁmszi(@ ;;‘)%’%gmtg —f=Et 50 19 270.03[FHA—RIL | ERI10EE 94,187,772 35,791,345 58,396,427 38.0%
BURHER |BERETIY— X Lt b— MERTF £R870-277 =27 —f&Et 50 16 160.38[ A A—MIL | ERISEE 49,274,400 15,767,808 33,506,592 32.0%
BURMER (A oT4 TATLT h— () BE MERTERTIL ety —f=Et 22 15 116.64| FAA—MIL | FRI4AEE 42,791,677 29,526,255 13,265,422 69.0%
BURMER AV T4 TATLS hr—CH) HiE MERERTIL BYiTRRE —MR=Et 15 15 1.00|= ERI4EE 11,025,000 11,024,999 1 100.0%
BURHER (ML T0 JATLS EYyy ) BE |MENEXRTI ey —f=Et 22 15 116.64| FAA—MIL | FRI4AEE 29,036,677 20,035,305 9,001,372 69.0%
BUORHHER [MLoT4 78TLT EYvy Qi) & |MENERTI BYiTRRE —MR=Et 15 15 1.00|= ERI4EE 7,350,000 7,349,999 1 100.0%
BURHHER (M oT4 TATLS EX—(H) BE MERTERTIL ey —f&Et 22 15 76.28| FHA—NIL | FR14EE 25,746,078 17,764,785 7,981,293 69.0%
BURMER [AVoT4 TATLT EX—(H) HiE MERTERTIL BmiTRRE —fE=Et 15 15 1.00(=t ERI4EE 7,035,000 7,034,999 1 100.0%
BURHHER [MVoT4 TATLS FLT70H) BE MERTERTIL ey —f&Et 22 15 1176\ FHA—NIL | FRI4EE 28,492,784 19,660,020 8,832,764 69.0%
BURMHER [AVoT4 TATLT FOT0H) HiE MERTERTIL BmiTRRE —fR=Et 15 15 1.00|= ERI4EE 7,245,000 7,244,999 1 100.0%
BURHHER [MVoT4 TRTLS TUoTH) BE MERTFERTIL 2] —fR&Et 22 15 1176\ FHA—NIL | FERI4EE 28,597,784 19,732,470 8,865,314 69.0%
BURMER [AVoT4 TATLS TUoTH) HiE MERTERTIL YRR —=F 15 15 1.00[=¢ ER4EE 7,245,000 7,244,999 1 100.0%
BURHER (BRBAOR EEEBH-BEM MERTFTEER1499-57 ey —fR&Et 47 16 740.51| FHA—RIL | FERI3EE 211,120,000 74,314,240 136,805,760 35.2%
BURHEHER (2ZBRE7— SEMEE e BT IR 93051 ey —=F 50 23 281.51|FH A=k )L [FER6ERE 173,123,430 79,636,764 93,486,666 46.0%
BUEHEEE ([LTRES DL F— MERFIREM6214F 2] —MRREt 47 8 164.37| A A—MIL | ER21EE 50,454,659 8,880,016 41,574,643 17.6%
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TEREW HEAW FEEH# HMYHEAM | AN | HAEY | REER | %HE B DRSEE D#EE | SENREE A S EfnELE
BURHEER [IhdFESNHLVE E— FNRT—D M ERTFIRERe214% ety —f=Et 31 8 26,40 EFA—PIL | ER21EE 824,841 217,752 607,089 26.4%
BURIER (REDE(EBR) B9 M ERTF A R 508%F #1135 2] —fRREt 50 17 286.51| FAHA—NIL | FER125E 65,091,600 22,131,144 42,960,456 34.0%
BURHEER |FROB(BR) RiF MERTFRRR508% 35 BUtERE | MRS 15 17 1.00| = FRLI2ERE 17,404,800 17,404,799 1 100.0%
BURHEHER BRI B2 =Tt 5— EY T ERTFISM2E fe2)] —f=Et 50 29 210.12| A A—)L |BBHI6IEE 51,285,000 29,745,300 21,539,700 58.0%
BURHEER [BRS2I2 =T 52— iR T ERTFIRM2% YRR —f=iEt 15 29 1.00[= FRFN63EE 6,240,000 6,239,999 1 100.0%
BERHEER (G ROBOREGER) EETFE R7E =2y —fR&E 50 15 200.26| FHA—NIL | ERI4ERE 71,618,400 21,485,520 50,132,880 30.0%
BURHER (G ROBEDE HEAFHRE MERFHR7E YRR —f=Et 15 2 1.00[= FERR2TERE 561,600 75,254 486,346 13.4%
BURHEHER [FFRSNHULVE MERTFIERI2 1 Eih2 =) —fe=Et 50 19 125.00| F 5 A—FIL | FRLI0FE 52,962,000 20,125,560 32,836,440 38.0%
BURHEHEE [ FA A hH U EIEE B MERTFIRI2 1 Eih2 =27 —f=Et 50 4 35.00|FHA—IIL | FR25FE 10,533,600 842,688 9,690,912 8.0%
BURHEHER | FFRSNHLEEE EXMER MERTFIERI2 1 Eih2 BYiTRRE —MR=Et 15 4 1.00|= FER25EE 8,316,000 2,228,688 6,087,312 26.8%
BURIEHER | FF AN HUEEE BiREHR MERFER21EH2 BYERE | MRSt 15 4 1.00[2¢ AR5 3,603,600 965,764 2,637,836 26.8%
BURHEHER [ FF RSN BV EHRFRE MERTFHER21FH2 BmiTRRE —fE=Et 15 2 1.00|= ERR2TEE 712,800 95,514 617,286 13.4%
BURHHER [bwbsALE BHRT—D TERTF/NET04-1 =27 —f&Et 31 10 48.00| FAHA—RIL | FERI19EE 7,491,000 2,472,030 5,018,970 33.0%
BURHHER | LR/ AR NERTF L£R553-9 ety —f=Et 38 18 4.76|FH A= [FRITERE 2,664,000 1,294,704 1,369,296 48.6%
BURHEER [ KE X E EETFRE R $29-78 2] —fR&Et 38 22 476\ FHA—NIL | FRTEE 2,448,000 1,454,112 993,888 59.4%
BORHEER |BR R =5 MERTFHR30 ety —=F 38 21 476\ FHA—MIL | ERSEE 2,472,000 1,401,624 1,070,376 56.7%
BRHEER BTERL BY BE K%E?EE@%HW%&B 2y —feREt 38 15 44.16[FHA—PIL [FRU14FE 14,498,091 5,871,720 8,626,371 40.5%
BRHEER (BB AL BY RiE K%giﬁﬁ@ﬁﬁw%ﬂ% =27 —BRE 15 15 1.00| = TRI4EE 7,446,909 7,446,908 1 100.0%
BURHEHE SR (B IRREERT - (BR MENFEERAEI499FHMOT |EY —fR=E 38 35 36.45|F 5 A—)L |BBHSTEE 6,120,000 5,783,400 336,600 94.5%
BURHEHER 2/9



MEE BEEE-EXR

TEREW HEAW FEEH# HMYHEAM | AN | HAEY | REER | %HE B DRSEE D#EE | SENREE A S EfnELE
BURHEER [(RIRR AQEARER- L T ERTFIRRRss6E ety —f=Et 38 26 50.00|E 5 A—FJL | ERRIEE 26,178,789 18,377,502 7,801,287 70.2%
BURHESR (22BN T — KB e BT IR R RH9305-1 ety —fRREt 50 23 12.00[FEH A=k | FRIGERE 3,922,240 1,804,212 2,118,028 46.0%
BURHHER B ARBIRLE ML BE e BT IR R 9305% ety —f&Et 38 9 25.20|F 5 A—IIL | 205 E 12,795,300 3,109,257 9,686,043 24.3%
BURHEERR B ARBIRILE ML RiE TERTF IR RR9305%F e/ —fR&E 15 9 1.00|= FER20EE 4,672,500 2,817,513 1,854,987 60.3%
BURHEER | A AREIHAS KRBT 1S BT iR AR 39051 ey —f=Et 50 9 20.25|FH A—kIL | FR205EE 8,530,200 1,535,436 6,994,764 18.0%
BURHEER [H(ETaM L (S ML) MERTFIE fe2)] —f&Et 7 9 1.00|= FR20EE 2,888,000 2,887,999 1 100.0%
BURHESR 2R BRARER MEEFLR#ER ety —f=Et 38 6 25.25|FHA—N)L | FRR23EE 17,535,000 2,840,670 14,694,330 16.2%
BURHGERR BB TN RT—Y BEIS T ERTFISR M =) —fe=Et 40 2 62.40| 5 A—kIL [ER2TEE 29,048,945 1,452,446 27,596,499 5.0%
BREER BRSHNRT—C BEIE BESRFE  |MTEHFBHELRA BUERE | Msst 15 2 1.00| = FR2TEE 4,741,200 635,320 4,105,880 13.4%
BURHEHER |BRBHNRT—C BETZ(RER) MERTFISMHR =) —fe=Et 40 2 88.00| A A—h L [FER2TEE 30,672,000 1,533,600 29,138,400 5.0%
BORHER SWEETUYREE BE MERF L RI5E =27 —f&Et 47 2 387.34| FHA—NIL | FER2TEE 121,394,518 5,341,358 116,053,160 4.4%
BURHEHER DWEHTUYRME &iF NERTF LR535%1 BmiTRRE —f=Et 15 2 1.00|= ERR2TEE 13,400,640 1,795,684 11,604,956 13.4%
DR R i;‘bﬁ;ﬁwq_ ARI—E=LGET7A5— | pr e e m8Rg9305-1 By — R 15 23 1.00[=% TRR6EE 31,766,963 31,766,962 1 100.0%
BURHEHER [bwosAhE RT—CBR NERTF/NET04-1 BmiTRRE —f=Et 24 0 1.00| & FERR29EE 1,232,496 0 1,232,496 0.0%
BRHER |/ NEBRESFER BE ?¢§W$11\5i61§‘62§‘62§ 2] —MRRE 47 0 629.03| K A—kIL | R205EBE 220,902,897 0 220,902,897 0.0%
BURHER /NEBESFTRR RiE ;['rEETE,-“L/]\;’E61§~62§,62§ YRR —R=E 15 0 1.00[=¢ TR0 E 33,731,943 0 33,731,943 0.0%
BURHEHER ﬂég%ﬁ%x%—’)ﬁiﬂ%ﬁ%ﬁ BRHL TERTFIMMER 2] —fR&Et 38 0 2400 FHA—NIL | FR29EE 14,410,256 0 14,410,256 0.0%
BURHEHER QEE%Q%”X?_:)EEEEK%E BRMU | e gt BmitRRE —f=E 15 0 1.00|= FERR29EE 5,113,744 0 5,113,744 0.0%
BURHEHER grﬁggﬂx—?_:)ﬁw%ﬁgﬁ HRER | nrmar e 2] —MRREt 47 0 30.00|FHA—NIL | FER29EE 18,012,821 0 18,012,821 0.0%
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TEREW HEAW FEEH# HMYHEAM | AN | HAEY | REER | %HE B DRSEE D#EE | SENREE A S EfnELE
B | ST AT T RDRARE MREE |y e RINCRESH R 15 of ool TR 6,392,179 0 6,392,179 0%
BURMHERR (T EBHAVERER MLURE—ARKRER |MERMTESNIIHBRA ety — R 38 0 1.00[= FER29FE 58,556,520 0 58,556,520 0.0%
BUORHER [ HRRMESHR BE WERTF LR339—18 ey —f&Et 47 1 1.00(#% T R84 68,472,000 1,506,384 66,965,616 2.2%
BURMEHER [ HERMER RiE EEF LR339—18 YRR —f=Et 47 1 1.00|= FR28EE 7,668,000 168,696 7,499,304 2.2%
BURHEERR [0 oS A LIS (2 B ML) TERTF/NET04-1 agbmw%ﬂ'ﬁ —f=iEt 40 10[  3,029.75(F A A—RIL | FERI9EE 16,508,850 4,127,210 12,381,640 25.0%
BURHEESR [0 bdA LS EEE T ERTF/NET04-1 %)@m(ﬁ#‘ﬂ'ﬁ —fr&Et 15 10 405.45| FEH A—k)L [ FR195FE 2,432,700 1,629,900 802,800 67.0%
WEHAR RS PR 7LSERAE %i%g;&ﬁzmﬁt&wzﬁ(@ af’ﬁﬁ@%ﬂ'ﬁ —fait 50 19) 22500\ FHA—FL |FREI0ERE 103,683,551 39,399,749 64,283,802 38.0%
BERHER BTBNML EEHS K%giﬁﬁ@ﬁﬁw%ﬂ% %?mw%lﬁ —RERE 15 15 44274/ FF ARV | FRIAERE 5,142,857 5,142,856 1 100.0%
BURHHER |L—Y— MERTFIERI21FHh2 ;?mm%lﬁ —f=Et 15 19 1.00[= R0 E 11,361,000 11,360,999 1 100.0%
BURHEHER (R EETR PILKKE MERFREER201F#R47 @?mw%lﬁ —fe=Et 50 12 1.00|= ERITEE 3,766,000 903,840 2,862,160 24.0%
BURHEHER | A A REIRORE rE BT IR R 3905% i1 QFMQ%IW —fR=E 50 22 1.00|= FRIEE 1 0 1 0.0%
BURHGESR (MERMTO—F/AAUFREBERNTTRER)  |MEETFREERR201 %45 @?mw%lﬁ —fE=Et 40 10 1.00|= TERI19EE 8,238,000 2,059,500 6,178,500 25.0%
BURHEER | MERTTO—F/AVRRIEHR (BHFWA) | T EETFE 2805 1 ;?mw%lﬁ —pR=E 40 10 1.00|= FRI9ERE 8,241,732 2,060,430 6,181,302 25.0%
BURHEHER [MTEETTO—RN\URREEREH (NEFWA)  |[ITERTF/NE1137EH6 g?mw%lﬁ —fR=Et 40 10 1.00|= TERI19EE 7,874,250 1,968,560 5,905,690 25.0%
BURHER [MERTTO—F/AURREEMER (EBEFWA) I ERTF ER10E#190 @@Mﬂ#lﬁ —fR&Et 40 10 1.00|= FERI19EE 14,844,782 3,711,190 11,133,592 25.0%
BURHEERR [MERTTO—R /AU RRIEER GEMFWA) ﬁEW?Ei@ﬁHm&WWIE@MQ%IW —R=E 40 10 1.00|= FER19EE 13,354,150 3,338,530 10,015,620 25.0%
BURHEER [MERITO—F/AURREEER (WREFWA) [T ERIFER2EH %?mw#lﬁ —fR&Et 40 10 1.00|= FERI19EE 11,497,450 2,874,360 8,623,090 25.0%
BURHEGERR (MERTTO—F/AURREER (FHZH#E) |MTEErFER2405%H QQMQ%IW —R=E 40 10 1.00|= ER19EE 4,211,700 1,052,920 3,158,780 25.0%
BURHEEE (MTERTTO—RAURBEESR GHEFWA) |MEBETFER2435% 1 QFMQ#Iﬁ —fR=E 40 10 1.00|= TR 5,714,200 1,428,550 4,285,650 25.0%
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TEREW HEAW FEEH# HMYHEAM | AN | HAEY | REER | %HE B DRSEE D#EE | SENREE A S EfnELE
BAEHER | BREDORIKTE HERTF LR el 50 6 1.00[zt 23 415,800 49,896 365004  120%
BAHER | BREWOER FhiEAH LT ERTF £ R e 10 6 1.00[t FR23ERE 199,500 119,700 79800  600%
BURHEESE [ ERTaML BEES H;‘]E\;E'?iﬁ LRERH208, ;;DM(’A%I{’E —f=iEt 15 6 342.10(F A A—IL | ER23EE 20,475,000 8,230,950 12,244,050 40.2%
BURHEESE (MTERTTO—R/AAUR BRI SR TERFIERMHR %)ﬂ)ﬁt(’,&#\lﬂi —fEsEt 10 6 1.00|= FER23EE 2,184,000 1,310,400 873,600 60.0%
BURHER =V /B MUY I —EREIHIGE R TERTRIRM RN agbmw%ﬂ'ﬁ — i Et 10 5 632.00| FHA—RIL | FER24EE 9,508,628 4,754,310 4,754,318 50.0%
B AR [ R i PEBT R 1 364K %)@W'A#‘IW —mait 10 5| 128830\ FH AL | ERi2asRE 19,249,300 9,624,650 9,624,650 50.0%
BURHEESE (AN LB EI5 R 0 MEREREALA ;g’ﬁﬁ(ﬁ%ﬂ'ﬁ — i Et 10 5 788.00| FHA—RIL | FERR245EE 8,575,000 4,287,500 4,287,500 50.0%
BURHEHESR | A BEESER MERFHRBMBA @?mw#‘ﬂ'ﬁ —MR=Et 10 5 1,892.00|FHA—FIL [FR24FE 19,183,500 9,591,750 9,591,750 50.0%
BURHER (ERDEMLUERHETS TIRETF ER %g’ﬁm"}%ﬂ'ﬁ —RR=E 15 5 1.00|= T4 217,350 72,810 144,540 33.5%
BURHEHER [ b SA RS RERE MERFNELYLSALEBN | AR (N{ITEY |—BEEH 15 5 1.00(=t FERR245EE 396,000 132,660 263,340 33.5%
BURHEGER [R—RILT—b o/ B % Wi-FIER{E#ER BIETEIGET1EH1 IiE4 —f&Et 9 4 1.00|= FERR25EE 2,402,393 1,076,272 1,326,121 44.8%
BURHEGERR [R—2IT— b4 % Wi-FIEREHR2 |MEETFEISHR IHH —f=Et 9 4 1.00|= FER25EE 454,045 203,412 250,633 44.8%
BURHEGER [R—2IT —boz4F X Wi-FIERHEHES  |TEEIFTE545% IiE4 —f&Et 9 4 1.00|= FERR25EE 3,454,900 1,547,792 1,907,108 44.8%
BURHEGERR [R—2IT— b/ F % Wi-FIEREHR4  |TSETF/INERR IH] —f=Et 9 4 1.00|= FER25EE 454,045 203,412 250,633 44.8%
BURHEHESR [R—2L 7 — oA % Wi-FIERHHESRS  |MERTT/IVNET04E IEY —fR&Et 9 4 1.00|= FR255EE 3,306,404 1,481,268 1,825,136 44.8%
BURHEGERR [R—2ILT— b/ % Wi-FIEkiEHRe |MTEEFRE5HN T —=F 9 4 1.00[=¢ FRi255E 454,045 203,412 250,633 44.8%
BURHEHESR [R—2L7 — oA B E Wi-FIERHHST  |[MENTEE1930%FH2 IEY —fR&Et 9 4 1.00|= FR255EE 2,138,983 958,264 1,180,719 44.8%
BURHGESR [R—AILS —b /B ¥ Wi-FIERHEH#EES |MEEFmEARMMRA IE%D —=F 9 4 1.00|= FERR25EE 609,352 272,988 336,364 44.8%
BURHEESR [R—2ILS —boz(BE Wi-FIR##580 2/%5;; BERERKI8 A | Ty —fR=E 9 4 1.00|= FER255EE 2,345,710 1,050,876 1,294,834 44.8%
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TEREW HEAW FEEH# HMYHEAM | AN | HAEY | REER | %HE B DRSEE D#EE | SENREE A S EfnELE
BURHHER [R—2LS — b/ % Wi-FIERHHER10 |MTEAIFHR689 T4 —f=Et 9 3 1.00|= FRL264F B 1,359,660 456,843 902,817 33.6%
BURHEGESR [R—RILS —b /B % Wi-FIERHEHEER  |TEEF LERRN I —fR=Et 9 3 1.00|= FRL264E 596,774 200,514 396,260 33.6%
BURHEMESE [R—2ILS — b/ B E Wi-FIREHSR12  |[MSETELR320% 1 IiE%D —f&Et 9 3 1.00| = FRL264F 1,288,195 432,831 855,364 33.6%
BURHEHER | R—2L 7 — b/ FE Wi-FIERFEHRHR13 | TEIFARITSEHS IHY —f=Et 9 3 1.00|= FR265EE 578,092 194,238 383,854 33.6%
BURHEESE [R—BILS —hoT/BE Wi-FIERERS14  |MSETEFERI73E S IiE%D —f=Et 9 3 1.00|= FRL264F 590,670 198,465 392,205 33.6%
BURHEESR [R—RILST —b I/ E Wi-FIERHEHEE15 |MTERIFERI73EMS TIEY —f&Et 9 3 1.00|= FR2645EE 1,086,379 365,022 721,357 33.6%
BURHEGER [R—2IUT —b o4 % Wi-FIERHEHIE16  |TEEIFEERI73EMI IiE4 —f=Et 9 3 1.00|= FRL264F 524,082 176,091 347,991 33.6%
BURHEHER | R—2L S — b/ EE Wi-FIERHEHERER17 | TEEFARIT3ERS )] —fe=Et 9 3 1.00(=t FRR265EE 524,082 176,091 347,991 33.6%
BURHEGER [R—2IT— b4 % Wi-FIERHEHE18  |MTEEIFEER21EFH2 IiE4 —f=Et 9 3 1.00|= FRL264F 1,994,275 670,074 1,324,201 33.6%
BURHHER [R—2LF— b/ B X Wi-FIERHHEHR19  |TEEER1499%EH )] —fe=Et 9 3 1.00(=t FRR265EE 1,109,470 372,780 736,690 33.6%
BURHEGER [R—RILT—b /B % Wi-FIEREHER20 |TEEAEDRR TIEY —f&Et 9 3 1.00|= FRL264E 542,764 182,367 360,397 33.6%
BURHEGERR [R—2IUT— b o4 % Wi-FIERFE#R21  |MTEETRERRZE®RA IHH —f=Et 9 3 1.00|= FERR265EE 1,994,275 670,074 1,324,201 33.6%
BURHEGER [R—RIS—b /% Wi-FIEREHER2 |TEETFBRHMA TIEY —f&Et 9 3 1.00|= FRL264F 609,352 204,741 404,611 33.6%
BURHEGERR [R—2IT—b o4 % Wi-FIERFE#R23 | ITSETFBH2%E IH] —f=Et 9 3 1.00|= FERR265EE 596,774 200,514 396,260 33.6%
BURHEGERR [R—2IST —b o4 % Wi-FIERHEHEE24  |TEErFREBRMEA TIEY —fR&Et 9 3 1.00|= FRL264F 596,774 200,514 396,260 33.6%
BURHEHESE [R—2L S — oA % Wi-FIERH#E825 |1 EETF K AEREI9305-1 IE%D —=F 9 3 1.00|= FRR265EE 1,355,989 455,610 900,379 33.6%
BRHEER [ R—2L T — bz R % Wi-FISRHER26 | 1TEEMBR TIEY —fR&Et 9 3 1.00|= FRL264F 5,988,456 2,012,121 3,976,335 33.6%
BURHGESR [R—AILS —b (B E Wi-FIERHEHEE27 |BRTMZEER4-19-1 IE%D —=F 9 3 1.00|= FRR265EE 218,260 73,335 144,925 33.6%
BUEHOE SR [ FRBANH U EEISRES MERTFIERI21EHh2 I —fEsEt 10 4 342.00| FHA—IIL | FERK25EE 5,266,800 2,106,720 3,160,080 40.0%
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TERLM BELWN FRTE WHEEEHM | SHAWH | HAEYN | RBEH | HE Bify HRAGAEBE x4l &E BAAKHREHE AR S EimLE
BURHEER %H’?"Smﬁ’“ﬁgmg%%ﬁ&x;uﬁﬁ% MEEFER21FHh2 ;‘)DW/‘}#‘I{'E —Re=Et 17 4 1.00[= TER25EE 5,996,250 1,415,112 4,581,138 23.6%
BURHEER ;iﬁjl\%%\ﬁg BREADFERENEAE MERFTER21EHh2 fm‘)’)mw#ﬂ'ﬁ —feEt 8 4 1.00| =t TR 255 E 5,396,250 2,698,124 2,698,126 50.0%
BEHER MR TO—FAUE B REAMBER MBI RN Bl 9 3 200/ 264 3,350,000 1,125,600 2,224,400 33.6%
BURHER [ HFLBERMAHHEE RE MERTINERA %)ﬂ)ﬁt(’,&#\lﬂi — st 50 4 60.50| 5 A—kIL | FERi254E R 10,255,375 820,428 9,434,947 8.0%
BURHEAE R BN R B IS F MEBERMRA agbmw%ﬂ'ﬁ — e Et 10 4 1,339.10[FHA—bIL | FR25FEE 12,632,550 5,053,020 7,579,530 40.0%
BURHEESR (AL 288 TovotEs MERHERHA Toft(ARTH —fesEt 30 4 43.69| A—kJL RS E 1,257,585 171,028 1,086,557 13.6%
)
B EN) I L B2 B e B MERERHA ag’ﬁﬁ("}%ﬂ'ﬁ —fesEt 10 4] 1,691.50|FHA—k)L | FRL25ERE 10,045,000 4,018,000 6,027,000 40.0%
BURHER (AR LRY—L— R AR E B MERRER LERIBRR @?mw#‘ﬂ'ﬁ — Rt 15 4 51.30| A—kJL RS 29,400,000 7,879,200 21,520,800 26.8%
BRHER(ZEEENTIUR(BRE - 25 KBHS) ag’ﬁﬁ(ﬁ%ﬂ'ﬁ —fE&iEt 10 4 1.00| = FRk255E 24,622,500 9,849,000 14,773,500 40.0%
BURHEER %f;é%ﬁf&ﬁmd(Ui%g%ﬁﬁﬂmm MEERERFEAR A @?mw#‘ﬂ'ﬁ — Rt 10 2 1.00|% TR2TEE 2,916,000 583,200 2,332,800 20.0%
BURHAER [REFEHRE RE MERFESHEE fﬂ?ﬁﬁ(ﬁ%ﬂ'ﬁ —fesiEt 20 3 36.00| EHA—IL | Fr26ERE 33,642,162 3,297,802 30,344,360 9.8%
BURHER [S2RESEEHIS MEERERFEAR A g?m(ﬁ#‘ﬂ'ﬁ — R 60 2 108.20| A—kJL TR2IEE 93,747,240 3,187,406 90,559,834 3.4%
BURHEER i%gggﬁ;u—wm%tﬁ%ﬁ%% MES MERIFNEHA fﬂ?ﬁﬁ(ﬁ%ﬂ'ﬁ —fE&Et 10 2 1.00| = FRR21EE 1,901,569 380,312 1,521,257 20.0%
BURHER [J)—Wi-FIRBEEFESEE MESRERVOL(MEEIFTEHA Toft (ARTH — R 10 2 1.00|= TR2IEE 327,613 65,522 262,091 20.0%
)
BUEHE R Z',;:Wi_m%rﬁ%ﬁ%i MESIBESS— | g ;‘ﬂ?m(ﬁ#lﬁ —fgsst 10 2 1.00|z% TR 274 312,993 62,598 250,395 20.0%
BURHAER (D) —W-FREEFESE (LSE0ER TERTF/INER fﬁ?ﬁﬂ(ﬁ#‘ﬂ'ﬁ —R=E 10 2 1.00[= FER2TEE 318,248 63,648 254,600 20.0%
BURHEER E'J_Wi_Fiﬁ%ﬁ%ﬁ%i MERIVEARA MERIFENEHA ;‘ﬂ?m(ﬁ#lﬁ —feREt 10 2 1.00| = TR21EE 2,423,099 484,618 1,938,481 20.0%
BURHEAER Zz_Wi_FiEﬁg{ﬁ$§ HSRALE MEETEE R 201 ih4a7 fﬁ?m(ﬁ#‘lﬁ —ERE 10 2 1.00[= FER2TEE 1,518,575 303,714 1,214,861 20.0%
BEHAR DU —W-FREREEE FRBIOER  |[MEERHeN e 10 2 1,003t A2 1810025 362,004 1,448,021 200%
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TEREW HEAW FEEH# HMYHEAM | AN | HAEY | REER | %HE B DRSEE D#EE | SENREE A S EfnELE
BAEHER | )W FEEEHEE NEBAE BTN ERP el 10 2 1.00[zt 2T 1,005,433 201,086 804347 200%
B R %J_Wi_ﬁ%rﬁgﬁgi FEDNDVA= | ymmrs kEi ;ﬂt)i)ﬁﬁ(ﬁ#ﬂ'ﬁ —EaE 10 2 1.00[=% TR 310,317 62,062 248,255 20.0%
BURHEER %‘J_Wi_ﬁgiﬁ%ﬁ$¥ ERESRBIER TEEF ER329F 1 agbmw%ﬂ'ﬁ —f=Et 10 2 1.00| = FR2TERE 1,366,204 273,240 1,092,964 20.0%
BURHEER ZZﬁ‘g:ﬁ'%ﬁgﬁEi EHENITAN BHEERR %)ﬂ)ﬁﬂ(’&%l{'ﬁ — s 10 2 1.00| =t TER2TEE 14,405,899 2,881,178 11,524,721 20.0%
BURIEHER | LRERMR METSE BEISEE EEF L H535%1 I8 —frREt 10 2 1.00| = FR2TERE 2,968,056 593,610 2,374,446 20.0%
BURHEHESR (AT WU EBRER BESET) TERTHA EER(AETEY) [— RS 48 4 860.00| A—kJL FER25EE 31,286,825 2,628,092 28,658,733 8.4%
BURHEER (BTE BREFHEE EAER TEEFREFE BB (A TN | — K5 50 3| 1,005.90|FHA—NIL [FR265FE 27,524,838 1,079,258 26,445,580 3.9%
BURHER SO REABBRUHESSEHRISE MENFERRBA AE (AHTEY) | —REE 50 1 1.00|= FR28EE 31,968,000 639,360 31,328,640 2.0%
BRIEER |PHERMR METE BHESREHIE |MEIFLRB—18 I — st 47 1 1.00| = FRR28EE 7,784,640 171,262 7,613,378 2.2%
BURHEHESR | SETLGWANB R BB (B Rigk) | RIETRERT 1151 HinaRE —fe=Et 5 2 1.00|= ER2TEE 3,186,000 1,274,400 1,911,600 40.0%
Bk R %%ffﬁ"f’j_ 20omEHTH LR, 51-MR| pyoproe gy pmpg0305-1 ) —f&Et 5 23 1.00| =t TR 36,117,774 36,117,773 1 100.0%
BURHEESR (T ERTHIgA V A— Ry b —/N— AIETEIGET 11 M —f=Et 5 5 1.00|= FERR24EE 9,377,025 9,377,024 1 100.0%
BURHEESR [ S 1TBUEIM S AT LAPLANETS BIETEIGET 11 VIk1T —f&Et 5 10 1.00|= FER19EE 149,653,944 149,653,943 1 100.0%
BURHEHER [GPSEFFIRAM K R T L TEETEE YIbo1T —f=Et 5 6 1.00|= FERR23EE 780,000 779,999 1 100.0%
BURHERR [ERATITERY —ERVRT A TERT L VI 1T —fR&Et 5 6 1.00|= FR23EE 2,329,000 2,328,999 1 100.0%
BURHER [ MEZARBNEIRT A METEE Yok 1T —R=E 5 5 1.00|= FERR24EE 300,000 299,999 1 100.0%
BURHEHER MR ERRRR AT L TERT L VI 1T —fR&Et 5 5 1.00|= FR245EE 2,390,000 2,389,999 1 100.0%
BURHEHER [BiaMER ZERRIATL METEE VI LT —R=E 5 5 1.00|= FERR24FEE 1,190,000 1,189,999 1 100.0%
BURHEER BT EHEMES R T A EET £ YIkoT7 —fEsEt 5 5 1.00| = FRR24EE 1,550,000 1,549,999 1 100.0%
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BURHHER | HERFYMRTEIRAT A NEET L Vo7 —f=Et 5 5 1.00| = FRR2AEE 1,430,000 1,429,999 1 100.0%
BURHEHER [BRERTHYR—RTL MERT £ PR — R 5 5 1.00[= FER24FE 1,190,000 1,189,999 1 100.0%

wezm | FR2SFEEMNERHUEHRER—2LT— - . iGas . -
Kﬁﬁﬁ%rﬁ%$¥'ﬁﬂﬁ% = TrEETHA VIkILT st 5 3 1.00[= FRi265E 3,406,725 2,044,035 1,362,690 60.0%
wom | P26 FEHRRE-RBESHES AT LE = . ines . o
BURHEER BI- B2 IR T R AiET SR 111 YIrITT A=Et 5 2 1.00| =t TER2TEE 9,338,721 3,735,488 5,603,233 40.0%
B #EHE S [ Microsoft office2016 503/ tVA RIETIEIEGHET 11211 VI 7 —Re=Et 5 0 5000|514t R |FER29EE 1,917,000 0 1,917,000 0.0%
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